2. MIPAS Daily Report for level 2 products summary report

(See mipas_daily_report_level2_ ML2PP_7_03_W_20060525.html for a detailed report).
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e 2.2.1 Successful retrievals

¢ 2.2.2 Pressure overview

e 2.2.3 Temperature overview

¢ 2.2.4 Species overview

¢ 2.2.5 History of daily averages

2.1 General Info

This report contains a daily analysis on parameters extracted from MIPAS level 2 data (The MIP_NL__ 2P product).

2.1.1 Report summary

The table below shows general characteristics of the data that are included into this report.

Item

Value

Report version

v1.11 26-05-2015

Time of report generation

26APR2016 16:28:42

Data source version

ML2PP/7.03-W

Processing scope for products

25MAY 2006 00:00:00 to 26MAY2006 00:00:00

Start time of first product within scope | 24MAY2006 22:37:41

Stop time of last product within scope |25MAY2006 00:26:42

Total number of level 2 products

2

Number of level 2 products with errors |0

2.1.2 Summary per product

The following table shows a summary for each product used in this report.

# Product name Start time Stop time Prod err |Number of scans (tot/proc) Quality summary warnings
0 |MIP_NL__2PWDSI20060524_223741_000060302048_00030_22128_1000.N1 |24MAY2006 22:37:41 | 25MAY2006 00:18:10 |0 128/128 VMR_TERM_MACRO_MICRO[CH4/micro:1; HCN/micro:3]
1|MIP_NL__2PWDSI20060525_001817_000005062048_00031_22129_1000.N1 |25MAY2006 00:18:17 | 25MAY2006 00:26:42 |0 11/11

2.2 Processing performance indicators

2.2.1 Successful retrievals

This section includes a table with statistics on the number of retrievals, as well as a worldmap plot that shows successful retrievals.

RETRIEVAL MDS |# scans processed |# Successful retrievals| %

PT 139 35 25.180
H20 139 35 25.180
03 139 35 25.180
HNO3 139 35 25.180
CH4 139 35 25.180
N20 139 35 25.180
NO2 139 35 25.180
F11 139 35 25.180




CLNO 139 35 25.180
N205 139 35 25.180
F12 139 35 25.180
COF2 139 35 25.180
CCL4 139 35 25.180
HCN 139 35 25.180
F14 139 35 25.180
F22 139 35 25.180

Murmber af successful retrievals ve, geclocation (x=day side |, triangle=night aside).
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2.2.2 Pressure overview

This section shows values (left) and error (right) for pressure after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.3 Temperature overview

This section shows values (left) and error (right) for temperature after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4 Species overview

LOS labitude [dcgr\:n:s_nc- r|'.h]
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2.2.4.1 H20 overview This section shows values (left) and error (right) for H20 after binning individual sweep values over retrieved altitude and tangent latitude.




HZO0 wmr [pprny] HZO wmr standard deviation [ppmy]
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2.2.4.2 O3 overview This section shows values (left) and error (right) for O3 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.3 HNO3 overview This section shows values (left) and error (right) for HNO3 after binning individual sweep values over retrieved altitude and tangent latitude.
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HNO3 winr [ppmv]
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2.2.4.4 CH4 overview This section shows values (left) and error (right) for CH4 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.5 N20 overview This section shows values (left) and error (right) for N20 after binning individual sweep values over retrieved altitude and tangent latitude.
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MNZ0 wmr [pprov] MZ0 wmr standard devigtion [ppmy]
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2.2.4.6 NO2 overview This section shows values (left) and error (right) for NO2 after binning individual sweep values over retrieved altitude and Sun Elevation Angle. Note that for NO2 the bin heights are 8 km.
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2.2.4.7 F11 overview This section shows values (left) and error (right) for F11 after binning individual sweep values over retrieved altitude and tangent latitude.
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COFZ2 wmr [ppmy]
T

LS latitude [degress_naorth]

a0 T T (001 500
o -
OO0 Q00
8O =
T
= mol N -
:' 00005000 4
B F3
‘-l;' X
S o .
-l
2
o Lised
£ b N 0,000
]
v
20 =
a —0 00050080
1o -
o | ] 1 =001 a0
—100 —a0 O oo 100
LOS lakituds [degrees_north]
CCL4 wmr [pprov]
a0 T T T 00001400
o - 00001200
B0 = 00001000 F 9
E
R Ll - AOCDE-OEF A
m
n
3
=4
% 40— - E.O2OE—O5 A
=
a
=
= - “ - 4OCDE-OSF A
E
20 - 2OCDE-0E
d Ba &
10+ - .00
) | ] 1 —200DE—0E
—100 —50 { B0 100

Retrieved altituda [krn]

Retrigved altituda [kr]

as T

L]

30

30

20

10

—100

ah

i

i)

58

30

20

1%

-1

COFZ wvmr standard deviation [pprv]
I

—a0 0

a0

LOS labitude [dcgr\:n:s_nc- r|'.h]

CCL4 wrmr standard dewiation

100

@pmﬂ

aa =5 ]
LOS latitude [degress_narth)

S

1400

0,0004000

0003500

J.
L

0. 0003008

0,00023500

00002008 F 1

0,0001 500

01,0007 Q0

BOCDE—0E

000

2.500E—-05

2.000E-05

1.500E-05

1.000E—-05

2O0DE—-08

008



HCM v [ppry] HCM wimr standard deviation [pproy]
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F22 vmr [pprv] F22 wimr standard deviation [ppmy]
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Temperature [K] for pressure 100.0 kPa

230

225

220RL
i3 | ——9C ta 80 deg
= 5 [ —B0 to —65 deg
B, F—4—B5 to —20 deg
LT EE1—2C to 20 deg
o 20 to &5 deq
& 65 to 80 dag
= 205 B0 to 90 deg
=
&

200

195

190

D05 00,00 (¢: 00,00 D0:00,00 000000 (000,00 O0:00.00 000,00
24 /02 F500E 1,703 /2006 26,03 /3006 10,70 /2006 25,04 /23006 10,/05,/2006 25 /05, /2006

Time= [atart of day]



Tangent aititude [km] for pressure 1000 hPa
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CH4 vmr [ppmyv] far pressure 100.0 hPo
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COFZ wmr [pprmv] for pressure 100.0 hPa
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[#—+—BC to —B5 deg
—65 1o —20 deg
EE1—-20 to 20 deg
20 to &5 deg
—BS to 80 dag

B0 to 00 deg

0.2

0.0

O 00,050
24 /02 75006

D000, 00 a0 ;00,00 Q000,00
26/03,/3008 10,704,/ 2006 25,/04/2008
Timz [atart of day]

2445

.............................................................................

i T3] SEETTTRETP TP PIPPPPRPRPPI E

Temperature [K] for pressure 10,0 RPa
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CH4 wmr [ppmy] for pressure 10.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deq
EE1—2C to 20 deg
20 to &5 deq
&5 to 80 deg
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0.20 ; : :
) H——00 to —E0 deg
= : [ —BC tn —B5 deg
A, - so—B5 to —20 deg
B Bl Tl S W 5. S I "o S, . % ., T, [F-E1-2C ta 20 deg
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Time= [atart of day]

MOZ wmr, sun elev<=0 [ppmy] for pressure 10,0 RPa
o014 : : :

C-.D12)4}{,-.q

ot

L.008

OB (-

H——0C to —E0 deg
[+ —B0C to —B5 deg
—=—05 ta =20 deg
EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg

D.004

o002

0,005
00 30L 07 00,00 D000, 00 a0 :D0.50 Q500,00 003000 Ac: 00,00
24,402 /5006 11,703,/ 2006 26,/6379006 10,70 /D006 25 /T4 /2006 10,05,/ 3006 25 /55 /2006
Tirz [atart of dayv]
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EE1—2C to 20 deg
20 to &5 deq
&5 to 80 deg
ED to 90 deg

00005
’XP*X

n.oo0o Tt

T e

D05 00,00
24 /02 F500E

(¢: 00,00
1,703 /2006

00:00,00 (000,00
10,70 /2006 25,04 /23006

Time= [atart of day]

O0:00,00
26,03 /3006

O0:00.00
10,/05,/2006

000,00
25 /05, /2006

25=107

20107

F12 vmr [ppmy] far pressure 10.0 hPa
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COFZ wmr [pprv] for pressure 10.0 hPa
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HCH wrr [pprov] for pressure 10.0 hPa
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F22 vmr [ppmy] far pressure 10.0 hPa
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Temperature [K] for pressure 1.0 hPa

J0G

i 18]

= (a0 ta —50 deg
360 (B0 ta —BS deg
., 5—B5 to —20 deg
. [F-51-20 ta 20 deg
= 20 to 85 dag

& BE ——E5 to 30 dag
= &0 to 90 deqg

=4

]

320
300
O 00,050 (000,00 O0E00.00 O:00.00 100, 00 Q000,05 (0% 00,010
24 /02 75006 11,/03,/2006 26,/03/9006 10,704 / 2006 25 /01 /2006 10,/05,/5006 25 /08, / 2006

Timz [atart of day]



Tangent altitude [km] for pressure 1.0 hPa
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F11 wimr [ppmy] for pressure 1.0 hPo

H—+—0C to —E0 deg
[+ —B0C to —B5 deg

—85 1o —20 deg

EE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg
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H——0C to —E0 deg
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MZOE wvmir [pprmv] for pressure 1.0 hPa
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Time= [atart of day]
F12 vmr [ppmy] for pressure 1.0 hPa
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H—+—00C to —E0 deg
[+ —BC to —B5 deg
-85 1o —20 deg
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20 to &5 deg
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COFZ wmr [pprv] for pressure 1.0 hPa
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= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

003020 Qs 00,00 AN 000000 000G, a0 Q0000 ;00,00
24,702 /5006 11,/03 /2006 26 /03,/9008 10,04 /2006 25 /04,2006 10,/08,/ 2006 55 /08 /2006

Timz [atart of day]



F14 vmr [pprrv] for pressure 100.0 hPd

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

003020 Qs 00,00 AN 000000 000G, a0 Q0000 ;00,00
24,702 /5006 11,/03 /2006 26 /03,/9008 10,04 /2006 25 /04,2006 10,/08,/ 2006 55 /08 /2006

Timz [atart of day]



F22 vmr [pprrv] for pressure 100.0 hPd

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

003020 Qs 00,00 AN 000000 000G, a0 Q0000 ;00,00
24,702 /5006 11,/03 /2006 26 /03,/9008 10,04 /2006 25 /04,2006 10,/08,/ 2006 55 /08 /2006

Timz [atart of day]



2440

230

220

]
—a
[l

Caily averaga [=== title]

200

190

Temperature [K] for preasure 10.0 hPa

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

003020 Qs 00,00 AN 000000 000G, a0 Q0000 ;00,00

24 /02 S 006 11,/03 /2006 26032006 10764 /2006 25 /04 F2008 10,05 /2008 25 05 /2006

Timz [atart of day]




Tangent altitude [kmn] for pressure 1000 hPa

32.0

a1.G

J1.0

+—+—8C to —80 deg

T
= 303 % —B0 to —65 deg
k] —B5 to —20 deg
P [3-E1-20 ta 20 deg
e 20 to 35 deq
= —— 65 to 0 deg
= 2.5 80 to 80 deg
&

29,0

385

ZH.G : : : : :

D0z 00L00 000,00 D0C000 000,00 Q000,00 Q000,00 000,00

24702 /5006 11,703,/ 2008 26/03,7/3008 10,04, 2006 25,704 /2006 10,05, 2008 25 705 /2006

Timz [atart of day]




H2Z wrnr [pprev] for pressure 190.0 hPa

7.2

7.0

B.o
= (90 to —50 deg
- - —B0 to —65 deg
o 6.0 —B5 to —20 deg
m [F-£1—20 ta 20 deg
2 20 to 35 deq
5 5.5 —— 65 to 0 deg
= &0 to 90 deq
a

5.0

+.5

4.0 : : . : , .

D0z 00L00 000,00 D0C000 000,00 Q000,00 Q000,00 000,00
24 /08 FEnns 11,703,/ 2008 26,/03/2006 10,04 /2006 25 /04 /2006 10,705,/ 3006 25 /08 /3005

Timz [atart of day]




i

Caily averaqa [eee title]

O3 winr [ppmy] for pressure 10.0 hPd

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

3 : ' '
D500 (000,40 00,00 (06960, 50 (500, 00 00,15 O 00,0
24 /02 S 006 11,/03 /2006 26032006 10764 /2006 25 /04 F2008 10,05 /2008 25 05 /2006

Timz [atart of day]



Caily overage [see title]

HMO3 wmr [pprry] for pressure 1000 KPa
0,009 : 5 -

0.008 y X

OAT : ............................ -. ......................................................... -: ............................ |

:E;H;'{ +—+—00 to —B0 deg
: ' : ' 4= —BC to —BS deg

: 5 + E l : :
0.008 p " M : : —B5 1o —20 deg
) : ; 5 i | [FE-20 to 20 deg

' : : : : : 20 to 85 deg
OO0 | s ;EI.; ............................ .E ............................ i ............................ i .......................... :. ........................... E —EﬂtDE':ldEg
: ' : ' : ' E0 to 90 deq

0.004 e 25 e fﬂi?'-._

SRS o s O ook
ﬂ,m,@ﬂm __________________ S ERE¥ oS Fe | EoRem LT

0,002

D500 (000,40 00,00 (06960, 50 (500, 00 00,15 O 00,0
24 /02 S 006 11,/03 /2006 26032006 10764 /2006 25 /04 F2008 10,05 /2008 25 05 /2006

Timz [atart of day]




1.6

CH4 wnr [ppmy] for pressure 10.0 hPa

1.4

B 1.2 (90 to —50 deg
- - —B0 to —65 deg
K3 —B5 to —20 deg
> 1o [F-£1—20 ta 20 deg
2 20 to 35 deq

= —— 65 to 0 deg
= &0 to 90 deq

a

=
o

0.E

0.4 5 5 5 i W .
00:00,00 08:00.00 £0:00,00 00:00.00 05:00,00 00:00,00 00 00,00
34702 /5006 11,/03/3006 260373006 10,/ /3006 25 /0472008 10,705, 2008 05 O /2008

Timz [atart of day]



MNZ2 wrnr [pprev] for pressure 190.0 hPa

0,250

R e

Cally cwverage [see titla]

L

(ANALH

+—+—8C to —80 deg
4= —BC to —BS deg
—G3 to —20 deg
[E1—-2C to 20 deg

D--I':' ............................ E..-..-.---.-..-.---.-..-.---.E. ........................... .E....-.---.-..-.---.-..- .....E.---.-..-.---.-..-..--.-..-..i ..............................
: : : : : : 20 to 85 deg

—ES to 30 deq
&0 to 90 deq

D500
24 /02 S 006

000,00 Q000,00 a0 00L G0 a0, 00 000,00
11,/03/2006 26,/03/2006 10,04 /2006 25/04 /2008 1005,/ 2006
Timz [atart of day]

O 00,0
25 05 /2006



MNOZ wrr, sun eleve==0 [ppmy] far pressure 10.0 hPa

0,008

0,005
o H—+—90 to —E0 deg
004 B0 ta —65 deg
® —B5 to —20 deg
w [F-E1-20 ta 20 deg
= 20 to 35 deq
= —— 65 to 0 deg
S 0.003 B0 to 90 deg
&

0.002

£,001 - . . , : :

O 50,00 O 00,00 Pl EAN Qo0 Gi0 Q000,00 000,00 Qcy 00,00
24 /08 FEnns 11,703,/ 2008 26,/03/2006 10,04 /2006 25 /04 /2006 10,705,/ 3006 25 /08 /3005

Timz [atart of day]



Caily overage [see title]

MOZ wrr, sun elev<0 [ppmy] for pressure 10.0 hPd

0,014
0,010
[—+—00 ta —B0 deg
% —B0 to —B5 deg
©.0038 —B65 to -20 deg
[F-51—20 ta 20 deg
20 to 35 deq
o008 [ —FES to 80 deq
&0 to 90 deg
L.004
o002
0,000 : : - : . :
O 50,00 O 00,00 Pl EAN Qo0 Gi0 Q000,00 000,00 Qcy 00,00
24 /0273006 11,/03/2006 26,/03/2006 10,04 /2006 25/04 /2008 1005,/ 2006 25,/05,/2006

Timz [atart of day]




Caily everage [see title]

F11 winr [ppmy] far pressure 10.0 hPa

401077
Iex10™
30x107°
iy H—+—00 ta —E0 deg
2.5x10 % —B0 to —65 deg
—G3 to —20 deg
i c-“-"i? [3-E1—20 ta 20 deg
20 to 35 deq
—ES to 30 deq
1.5x10™5 ---- B0 to 90 deg
101070
E.0x1o7"
O : : : : : :
(K] AR 000,00 D00, 00 Q000,050 Q000,00 Q00000 000,00
2402 /5006 11,/03 /2008 26,/03/2006 10,70 £ 20006 25,/ 04 /2005 10,05,/ 2006 25 /05 /2006

Timz [atart of day]




Daily averaga [=se titls]

CLMO wmr [ppmy] for pressure 10.0 hPa

08012
00010
+—+—00 to —B0 deg
00008 4= —BC to —BS deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
(0008 —ES to 30 deq
' B0 to 90 deg
0.o004
02002 H : : : : :
D DL O 00,00 D0, O Q000,00 Q00,00 Q000,00 O 00, D
E#fCIEfECI'DE 1 1f‘ﬂl3f?ﬂlﬂﬁ EEI.-"'CIEJ.-’EDEIE i DfoEEI'DE 25fD4—fE'DCIE 1 CI,-"'DE;’EDE'E EEJ.-"DE-I.-"'E'DDE

Timz [atart of day]



Daily averaga [=se titls]

MNZCE vimr [pprmy] far pressure 19.0 hPa

00025

0.0020
: [—+—00 ta —B0 deg

0.0015 4 —B0 to —B5 deg
: —B5 to —20 deg
- (E-E1-20 ta 20 deg
: ; : 20 to 85 deg
! : —E5 to 30 deg

00010 ; 5 5 E0 to 90 deq
i - e

00005 |- O Eeteeeessessssssessessessessensensensensensensensensanees . ......................................................... D eeeeee2ee 2222522222254 R R0t 4R AR R AR R R R e

Pas _ ; 5
0,000 EH + . . , ! TP I
D0z 00L00 000,00 D0C000 000,00 Q000,00 Q000,00 000,00
24,702 /5006 11,/03 /2006 26 /03,/9008 10,04 /2006 25 /04,2006 10,/08,/ 2006 55 /08 /2006

Timz [atart of day]



Caily everage [see title]

25107

2..'33{1':!_4 ............

F12 vinr [ppmyv] faor pressure 10.0 hPa

Cogg | f—+—90 ta —B0 deg

TSP N S ........................................................ A — ........................................................ ] | [¥—B0 ta —BS deg

'1.,|:|K'1'El_4 ........................... ; ............................. i.; .i .........................

501078

o

W e
i !

—G3 to —20 deg
[E1—Z0 to 20 deg

20 to 35 deq
—ES to 30 deq

B0 to 90 deg

D500
24 /02 S 006

(000,40 00,00 (06960, 50 (500, 00
11,/03 /2006 26032006 10764 /2006 25 /04 F2008

Timz [atart of day]

00,15
10,05 /2008

O 00,0
25 05 /2006



Caily everage [see title]

COFZ wmr [pprav] for pressure 10.0 kPa

40107 :
: ! : : : = ,
5.5}‘:1':'4 ............................ i ............................ i ............................ §. ............................ ;, ............................ i.i
:E = , = =

PR A Y -
! NN ) ! \
: : ; ! i 5 —a% to —E0 deg

T3 0 [ ....................................................... L ————————. T — SR————— 4 | PEH—ED to -6 deg

—G3 to —20 deg
[E1—-2C to 20 deg

% P 5¢ i § 20 to 85 deg
25 .H}—\-l-“tl'?- + .................. e :.+ ...................... &" ...................... .i ............................ E ............................ i. _EﬁtDEGdEH
= ¥ E i i b : ; § &0 to 90 deq

20107

1.5x107

D500 (000,40 00,00 (06960, 50 (500, 00 00,15 O 00,0
24 /02 S 006 11,/03 /2006 26032006 10764 /2006 25 /04 F2008 10,05 /2008 25 05 /2006

Timz [atart of day]




Cally overage [see titla]

CCL4 wmr [pprov] for pressure 19.0 hPa

431078 :
IR S— S S————— R ) S ——
L A oo A hoerarerrse 1 "1 F——oc ta —&0 deg
O 4= —BC to —BS deg
: - ; —G3 to —20 deg
T e S 1 , ............................ e memeeeneas ,. ............................ 1 ., .............................. (120 to 20 deg
5 0 : ; ; 20 to 85 deg
i : O 5 —FES to 30 deqg
; ; &0 to 90 deg
oo e oo o e
O
S SS— S SS——— S—— A————
—2x 1070 ; : : - : -
O 00,00 Qs f0 00 000, 00 Q00,00 000, O Q000,00 Q0 20, O
24702 S F006 11,/03 /2008 26/03/2006 10,04 /2006 25/ 04 /2008 1008/ 2006 25 /05 /2006

Timz [atart of day]



HCMH wrr [pprov] for pressure 100 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

003020 Qs 00,00 AN 000000 000G, a0 Q0000 ;00,00
24,702 /5006 11,/03 /2006 26 /03,/9008 10,04 /2006 25 /04,2006 10,/08,/ 2006 55 /08 /2006

Timz [atart of day]



F14 vinr [ppmy] for pressure 10.0 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

003020 Qs 00,00 AN 000000 000G, a0 Q0000 ;00,00
24,702 /5006 11,/03 /2006 26 /03,/9008 10,04 /2006 25 /04,2006 10,/08,/ 2006 55 /08 /2006

Timz [atart of day]



Caily everage [see title]

F22 vinr [ppmyv] faor pressure 10.0 hPa

1.8x107 O
1.6:107
1.4x107*
. H—+—00 ta —E0 deg
1.2x18 % —B0 to —65 deg
—G3 to —20 deg
R [F-£1—20 to 20 deg
; 20 to 85 deg
—ES to 30 deq
B0 BN B0 to 90 deg
B.0x1077]
4.0%1077
2.0%107 - . . , . ,
(K] AR 000,00 D00, 00 Q000,050 Q000,00 Q00000 000,00
2402 /5006 11,/03 /2008 26,/03/2006 10,70 £ 20006 25,/ 04 /2005 10,05,/ 2006 25 /05 /2006

Timz [atart of day]




Temperdature [K] for pressure 1.0 hPa

300

280
) H—+—90 to —E0 deg
= en B0 ta —65 deg
o —B5 to —20 deg
v [F-E1-20 ta 20 deg
Fa 20 to 35 deq
z —— 65 to 0 deg
= 240 &0 to 90 deq
=

220

200 i : : : : .

O 50,00 O 00,00 Pl EAN Qo0 Gi0 Q000,00 000,00 Qcy 00,00
24 /08 FEnns 11,703,/ 2008 26,/03/2006 10,04 /2006 25 /04 /2006 10,705,/ 3006 25 /08 /3005

Timz [atart of day]




Tangent altitude [km] for pressure 1.0 hPa

o0 5 : ; : :
G Lmmmmmmmm s §..-..-..-..-..-..-..-..-..-..i. ........................... .i.-..-..-..-..-..-..-..-..-...i ............................ . .. E,.
Mﬂe o 0 e =T EEIE'EI EE'EEE'EPHH E:;}LﬁI'EEErEI EEEE
4B [ e b e oo -
| | - BN

£ : g : [——00 to —E0 deg
o T %—B0 to —B5 deg
Y 5 . | 5 65 to —20 deg
P RS S| 7 A SOSR OO OOOON SO ARSI 6170 ta 20 deg
2 : P— : : 20 to 85 deg
z : o : , i | —B5 ta 80 deg
T S S S S — . 80 ta 90 deg
; = -

44

43

42 - : - : - :

D050, 00 00: 00,00 D000 Q000,00 Q00,00 O0z00,00 000,00
24702 /5006 11,703,/ 2008 26/03,7/3008 10,04, 2006 25,704 /2006 10,05, 2008 25 705 /2006

Timz [atart of day]



HZC winr [pprmv] for pressure 1.0 hP4d

25

20

Caily averaqa [eee title]
@

5|

b i
o0 i

: [,
mf l A L
s - < i 4

o

—_—l
= |
;]
r
4
L
-\-\-\-hb{: :r

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

D500
24 /02 S 006

000,00 Q000,00 a0 00L G0 a0, 00
11,/03/2006 26,/03/2006 10,04 /2006 25/04 /2008
Timz [atart of day]

00,15
10,05 /2008

O 00,0
25 05 /2006




=R

Y — e, S e

Q3 wmr [ppmy] for pressure 1.0 hPd

+
1
:
-
L

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

Daily averaga [=as title]
L
n
: ?
T

o
o
-
4
A
A
F
i

7Y SRR S — S —— *\*f ----------------------- RS o — .

2.0

D500 (000,40 00,00 (06960, 50 (500, 00 00,15 O 00,0
24 /02 S 006 11,/03 /2006 26032006 10764 /2006 25 /04 F2008 10,05 /2008 25 05 /2006

Timz [atart of day]




HNOZ wrr [pprov] for pressure 1.0 hPa
06012 : 5 :

R b R borramns s R R

| |

00008 [f--mm-mmmsmmmemmesemnes e E e . T -9 ta —BO deg
' - ' ; : b | [E—BC to —B5 deg
—G3 to —20 deg

a3 B T : = ) W) O .| [FE-22 ta 20 deg
5 = E : 5 : 20 to 85 deg
! E i | 8BS to 80 deg

B0 to 90 deg

Daily averaga [=ss title

00004 -0 peeannnneaneas R P (o e N -

Fiﬁ s
0,0002 - e

+

00000

D500 (000,40 00,00 (06960, 50 (500, 00 00,15 O 00,0
24 /02 S 006 11,/03 /2006 26032006 10764 /2006 25 /04 F2008 10,05 /2008 25 05 /2006

Timz [atart of day]




0.7

CH4 winr [ppmy] for pressure 1.0 hPd

0.&f M

%
|

£} (90 to —50 deg
- - —B0 to —65 deg
B 0.8 85 to —20 de
o = [3-E1-20 ta 20 deg
= 20 to 85 deg
E O3k e e e e —E5 to 30 deg
= ey &0 to 90 deq
&

0.z

011m,¥: ............................ .:_

5 %

0.0 ; : . : : :

D0z 00L00 000,00 D0C000 000,00 Q000,00 Q000,00 000,00
24702 /3008 11,/03 /2006 2670372006 10,04,/ 2006 25,/ D4 /2006 10,05/ 2008 25 05 / 2006

Timz [atart of day]




Caily overage [see title]

MNZC winr [pprmv] for pressure

0025

A ............................ ............................ ............................ ............................

G [ ........................................................ ————————— ........................................................ E——

0,000 by

[ atmaet  ww

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

N L L O PP E ............................. ; ............................ [;EE ....................... .; ............................ E ............................ ;. &0 1o GO dEH
| ; i ; Al = S 5

'E'.DDE a;. ........................................................ .§. ....................................................... E ......................................................... ; a;. ................................................. i

D500
24 /02 S 006

(000,40
11,/03 /2006

00,00 (06960, 50
26032006 10764 /2006

Timz [atart of day]

(500, 00
25 /04 F2008

00,15
10,05 /2008

O 00,0
25 05 /2006



Daily averaga [=se titls]

MNOZ wrar, sun elevs==0 [ppmy] for pressure 1.0 hPa

00020
BTG [ o ............................ o ............................
' : ' : : V| 80 to —80 deg
T T TN P, RN 3 U S A SR, R, s bttt L| B0 to —B5 deg
: : : : : : —63 to 20 deg
[F-E1-20 ta 20 deg
20 to 35 deq
|:| 'DC":'E‘ ............................ E ............................. i ............................ E ............................ .i ............................ E ............................ i. — 65 to 820 I:IEE
' : : : : 5 § &0 to 80 deg
0.8004 [ t ; ........................................................ : ................................................. Jerre e s e s ___,:- "E-‘ ........................................................ ;
-
00000 i : : - : .
(WA 000,00 Q00000 00 ;00,00 Q000,00 Q000,00 QC: 00,00
24700 FE006 11,/03 /2006 26 /03 /2006 10,/04 /2006 25,/ 04 F2006 10,/05 /2006 25 /05 /2006

Timz [atart of day]



MOZ winr, sun elev<0 [ppmy] for pressure 1.0 hPd

0,023

O.020
o H—+—90 to —E0 deg
e A.015 B0 ta —65 deg
® —B5 to —20 deg
w [F-E1-20 ta 20 deg
= 20 to 35 deq
= —— 65 to 0 deg
S 0.019 B0 to 90 deg
&

'E'.DDEl ............................................................................................................ LR

0,000 i : : : : .

O 50,00 O 00,00 Pl EAN Qo0 Gi0 Q000,00 000,00 Qcy 00,00
24 /08 FEnns 11,703,/ 2008 26,/03/2006 10,04 /2006 25 /04 /2006 10,705,/ 3006 25 /08 /3005

Timz [atart of day]



F11 wmr [pprmyv] for pressure 1.0 hPg

Timz [atart of day]

.0 , : :
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
O, 100,05 00100, 20 (500, 010 (3 001,10
24 /08 FEnns 11,703,/ 2008 26,/03/2006 10,04 /2006 25 /04 /2006 10,705,/ 3006 25 /08 /3005




CLNO vmr [pprmy] for pressure 1.0 hPa

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
O, 100,05 00100, 20 (500, 010 (3 001,10
24 /08 FEnns 11,703,/ 2008 26,/03/2006 10,04 /2006 25 /04 /2006 10,705,/ 3006 25 /08 /3005




NZOE vimr [pprmw] far pressure 1.0 hPa

00020
e Y R I T SRR e T R SRR IIIIEELLS
B (90 to —50 deg
- - —B0 to —65 deg
o : —B5 to —20 deg
: : : : : O :
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